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FOURTHSEMESTER
ELECTRICAL ENGINEERING/
ELECT. & ELEX. ENGINEERING

SCHEME JULY 2008

GENERATION TRANSMISSION AND DISTRIBUTION
Time : Three Hours Maximum Marks : 100

Note : (i) Attempt total five questions out of eight.
e TS § W Ut Ul B gel B

(ii) In case of any doubt or dispute, the English
version question should be treated as final.

el off uepR & WeE erydr fage & fRufy 4
TS AT P T B AT AT S

1. a) Define the following terms : 3
i) Diversity factor
ii) Plant capacity factor
=7 gal @1 aRrfde Hifo
i) SHaRde s
ii) e PURHET O
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b) Explain the load curve and write its applications.
3
IR ggh P! aioia B U 39 IugIT ke
¢) Explain the following in brief : 6
1) Connected load 11) Reserve capacity
111) Demand factor iv) Load factor
e & = gl @1 guis IR
i) PECS AIS i) Rord SuRiet
iii) feHUE thereR iv) IS HereR
d) A generating station has to supply load as
follows:
| Time Load
(inhrs) | (in kW)
0-6am | 4600
6-8 am 3500
8-12 noon 7500
12-14 Pm 2000
14-18 pm 8000
| 18-20 pm 2600
- 20-24 pm 5000
Sketch the load duration curve and determine the
load factor and plant capacity factor, if the
capacity of the plant is 12.00MW. 8
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TS W Pc @ eaRad dlg P Al Al
BT &

| Ty TR |

()| (Rl #)
0-6 am 4600
6-8 am L3500
8-12 noon 7500 |
12-14 pm 2000 |
14-18 pm 8000
18-20 pm 2600
20-24 pm 5000

e SIRIF d WY eI 218 ey Tl Tloe
RS thaer @1 A s i afE e
&HET 12.00 FEE g

Lot

Define the following :
i) Primary Energy Source
i1) Secondary Energy Source

e &1 gfeaeg $ifve
i) uefEe St |
i) fedfve oo &g
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b) Differentiate between Non-conventional sources
E of Energy and Conventional sources of Energy. 3
]
’é: R T ARG el wid) § ] T
§ Hiferq)
é ¢) Explain the working of M.H.D. power plant with
.E the help of neat sketch. 6
o
;—'. .2 afFy w9 & o fAf s R &
g HERAT I aftfa Hifel
g d) Explain the following in brief: 8
i) Biogas power plant
- ii) Geothermal power plant
e
] =1 &1 Hfée quiF HIf
2 ) awi il e
s y
a i) Rmerfer (yrfard) afe da=
T
<
&
= 3. a) Write the different factor considered for site
® selection of a Thermal power plant. 3
o
£ T I e A HA &) TR 3G I W
§ arae RS FRE @ Red|
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b) Write the Advantages and disadvantages of a
Nuclear power plant. 3
AYHIT afdd §IF & ™ U4 gIFar ke

c) Draw a schematic diagram of Hydro-Electric
power plant and explain working in brief. 6
Udh 7ot Efa WO & ¥@T1 =25 g918d ud srdyvredt
ol fér o AT

d) Describe the Diesel power plant in detail with
the help of diagram. 8
gioret afgd wa3 & fawga aul fom & Ggmar |
B

a) Define the following : 3
i) Tariff
11) Power factor
=1 ugi &1 R i
i) CR®
i) efera ores

b) Write the Merits and demerits of Two part
Tariff. 3
¢ urd SR & @ (7o1) 9 &1y (eran) forRed)
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Explain the maximum demand and power factor
Tariff in brief. 6
iftrpem femwe vd aifey uiies R &1 auie
Hfam o HIfl

A consumer has an annual consumption of
70120 kWh. The charge is Rs.100 per kW of
maximum demand plus 8 paisa per kWh. Find

the annual bill and the overall cost per kWh if
the load factor is 60%. 8

TS IUHIET @ a1fe wud 70120 fedEre e
21 tferman f2aws $i %.100 Ul feetare +8 T
wfy Reeitare ger &v g1 arffes e gon affar ara
dia ufdi fraiare e 71 Hifg afe wR qune
60% &I

What are the causes and effect of SAG on
Transmission lines? 3

RN 1A ORI () BT 01T Ud 3HP FeuA
& & PRI FAT 8 7

Define the following terms :

(IS

1) Corona effect 11) . Transposition
=1 ugl @ 9ETid $iI
i) PRI T i) eraqshe
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c) Explain the following in brief : 6

1)
ii)

1i1)

Methods of Reducing Corona
String efficiency
Skin Effect

iv) Standard voltages of A.C. transmission
ft ot <fare F aufs Hifsg
i) R FH @A DI R
i) &7 aman
i) &P hace (9T UHE)
iv) WUSE dicce HdTdd GRT WaRU & forg
d) 1) Determine the voltage across each unit of

S5/2016/6238

string of suspension insulators consisting of
3 similar units. The voltage across line and

=
Earth is 66KV and the ratio of the _;-:
capacitance of Each unit and the capacitance
between pin to earth is 10:1. 6 g
1 T AR SR A U R F €

TS gc & dfa @ e fFefery) ag
3R geeft & i @7 fivg 66KV 3R Ul
gfe & mey faga amiar g fo qur gedt &
qey faEge enkar &1 argurd 10:1 21

wos'auijuoadBba
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1i) Draw a single line diagram of complete
pOWer System. 2

el AT YT wqul Qi womelt & fore
EiEN

Compare different types of transmission lines. 3

ARy TR PI TER AZAN Dl T HIATI

Write the advantages and disadvantages of HVDC

Transmission system. 3

ferRaa |

1) Draw the vector diagram of Nominal ©t
method for medium transmission line. 4

FEIH FARY[ SIS Pl AHFA 7 [afe ot |fea
g Hifg)
ii) Define the Ferranti effect. 2

ThTUST THTT Bl R Hiferg

A balanced 3¢ load of 60 MW is supplied at
132KV, 50Hz and 0.86 lagging power factor by
means of transmission line. The series impedance
of single conductor is (30 + j50) ohms and total
phase to Neutral Admittance is 300 x 109 mho
using Nominal 'T" method determine the
following : 8
i) Sendingend voltage

ii) Regulation of the line
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Ue e S e, 60 HTETe BHR 9 132 fh A
50 &< TF 0.86 UeFTHT Afed qUe Bl FRAY
TS gRT WeeTg & S W& 2l UG [N A P
TG Aleieh 1 AUl Hiysrar (30+§50) g T2
et TSfie—d %ol U@ =ggel @ arg 300 x 10707
&1 g1 a1 A T fafts gy B o iy -
i) o9 R # alecs

i) e o Frame

Differentiate between overhead lines and

-

underground cable. 3
RRIR #73 Td AT Sidel § I ¥ ST

Classify the different types of cables on the basis
of voltage. 3

Ay % YR W R TeR & Sfda o Fila
HIfu

Draw the neat cross sectional view of a power

cable and write the function of each component. g
1

T A Pliet BT I BT FI TAD 3 Bl
aaﬁégnm%amﬁqdmmmﬁ
ot foilRed

MMH:duq

dba-
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What are the different methods of Laying cable?
Explain any one of them in detail with the help
of diagram. 3

e fom 9 A RifteT aar €2 o 9 el
T o fm & Terar ¥ fowgd auiF S

Differentiate Among Feeder, distributor, and
service mains in distribution system. 3

Frer, e, 9 37 & faaRur gonet! & s=rid
3" garsd|

Differentiate between Ring main and Radial

|

distribution system. | 3
R 39 7 Yfege Rga fiawor nomedt 3 SR TIE
SR

Explain the following in brief : 6
1) Types of line supports

ii) Line diagram of Interconnected distributed
system

A= &1 ey guie SR
i) oflgd TuIeH & UBR
) Evaacs [IaNuT TNt $T dg ARG
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d) A two wire d.c. distributor 250 meters long and
delivers a current of 9 Amp. at every 60meter '
from beginning. Resistance of single wire is
0.5Q/km. If the distributor is fed at one end at
240 volt, calculate the following : 8

i)  Voltage at Last end from feeding point

ii) Voltage drop
v o) aR fawe @ orarg 250 Hiex 81 Ry R vl
60 e W 9 TERR @ 9K gl (P TR B

nfeR 0.5 aire/f . &1 AR o @ & /R
v 240 diee a7 Sram &, a8 10T BN -

i) afRr RR ® dleed
i) dlecal i
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